s PR3

vzl . 3. 0o

a,b, T T, 0<a<be¥Tb, 2PV THOER L — (a+b)z?+abz —23 Bz —c
TEVYIND L 57 a,b,c DIEETTRD &, SEIN

L-CTZIYIUPRIE(172E(F A=DaES
5X=0ed3aT
A-cp G LA TIE.

(P (ath) (o 2370 ¢ L BT3¢
cfe- (otbrc+aby =23
jc-m(c—b)\:z.?
st boC 12 if?%‘[‘(“@% tZZ_zgw
ZHTH305
(=4 #3719 C=123 HLsUS
V' Cclakz (-0 (1-b)=23 vtU3onb 17
b 26 be2mg 3l B2, b ZETE
0<och ) 017 AA [=lnci &=2, b=2%

C:22a€2 23(23 o )(23—b)=23 >d3a 13

i)

| (e=22 L:QZm&iC' pLo<ht 2437 A

=—|atd _(~-m)(A-b) =23 \ N

(oo C( 'a‘;(\Jcb):z; w7} 3 ;1= F L0 Ftel7 bco 2307 hh
~(it

( p3med -23 (23R (23023 N

v [=-23282 23 (2 _
-23(23 1) (23th)=23 tn!s&yﬂ:(:t%ogm; b <o eTdn h,
vAEFY

p=2, b=2¥C* |

1 #¥%¢ http://www.mathtext.info/



